(Jnit 1 Day 6

Similarity & Quiz



Warm JJp

Given the points C(3, 2), A(-5, 4) and
T(-1, 6), name the NEW points after the following
transformations. Then specifically describe the
transformation.

D(x,y)—>(—x,-Y)

2)()(’ y)—>(y,x) During the

3(xy)—>(x-3,y+1) warm-up
11 please get out

A)(X. s = x. or borrow:

)( y) (2 2yj 1) Ruler &
Done Early? Start the Similarity 2) protractor

Discovery (next in the notes)
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Warm JJp

Given the points C(3, 2), A(-5, 4) and
T(-1, 6), name the NEW points after the following
transformations. Then describe the transformation.

C’(-3,-2),A’(5,-4), T°(1, -6)
1) (X’ y) — (_X’ —Y) Reflection over x and y-axis

2) (X, Y) — ( Y, X) C’(2,3), A’(4, -5), T'(6, -1)
Reflection over y = x
3)(x,y)—>(x-3y+1)

C’(0, 3), A’(-8,5), T°(-4, 7)
1 1 Translation left 3, up 1

4)( X, > —X,—
)( y) [2 ? y C’(3/2,1),A’(-5/2, 2), T’(-1/2, 3)
Dilation — Reduction by 1/2
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Up next...today’s notes!

e We'll come back and discuss Homework after
the notes, if time allows



Tonight’s Homework:

*Packet Pg. 21-22 evens and #3, 13
*Packet Pg. 18-20 evens




Similarity Discovery Betivity!
Feor this activity yov need:
Pencil, Notes Packet, calecvlator and
Protracter

Notes Packet p.23

. Figure 2
Figure 1

Figure 3 Figure 4




Similarity Discovery Activity Review!
1) Whatisthe mZC ? What is the m£LA?

120° 60°
2) What is the Ratio of CD:C’D’? What is the Ratio of AB:A’B’?
2.5 5:2
3) What is the length of A’D’?
20 1n.
4) What is the length of BC?
6 in.
5) Name the segments that are parallel to each other. How can
you be sure? A dilation takes a line not passing
BC&B'CS CD&C'D" through the center of dilation to a
parallel line.

6) What is the slope of segment A’B’? How do you know this?
1 Segments AB and A’B’ have the same slope because they are

3  onthe same line since they pass through the center of dilation.



SUMMARY

Two figures are similar (~) if they have the same shape but
not necessarily the same size.

-E'.

G fi =
ERR

Al LD F
o fi 5 ft

The scale factor is the ratio of the lengths of the
corresponding sides.
(a.k.a the similarity ratio
= another name for scale factor)
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Two figures are congruent if they are similar and the
same size. b
A
3

Two polygons are similar if:
1.) Corresponding angles are congruent.
2.) Corresponding sides are proportional.

L 6 M

3 R msN =msS
4 X 2 K

2
0O 10 N D
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Similarity Statement: LMNO ~ QRST
When writing a similarity statement, be sure to line
up corresponding angles and sides in the statement!!

L 6 M 3 R
) \Yk 21 \Qi MAN =m«S

2
0O 10 N D

In a similarity statement, be sure to:
1.) Line up corresponding angles that are congruent.

/L= Q , szM=2s R,
4/ N=,5. £ 1T =20,

2.) Line up corresponding sides that are proportional.
LM MN _No_ LO

QR RS ST QT




Two TRIANGLES are similar if ~

1. AA"'

If ZA= ZD and £ZB = ZE,
then AABC ~ ADEF.

2.

556~

i« AB _ BC _ AC
DE~ EF  DF
AABC ~ ADEF,

then
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3.

SAS~

AB _ AC
lhﬂL-AmeDE OF

then AABC ~ ADEF.



http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCInAq-i1wscCFYl4PgodcRcFoA&url=http://geo2010.blogspot.com/2012/01/64-and-65-prove-triangles-by-aa-sss-and_18.html&ei=BWzbVcmpLonx-QHxrpSACg&psig=AFQjCNGr2a-_ZASjX6CNl1M83BF-cXuVQg&ust=1440529759252245
http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCInAq-i1wscCFYl4PgodcRcFoA&url=http://geo2010.blogspot.com/2012/01/64-and-65-prove-triangles-by-aa-sss-and_18.html&ei=BWzbVcmpLonx-QHxrpSACg&psig=AFQjCNGr2a-_ZASjX6CNl1M83BF-cXuVQg&ust=1440529759252245

Up next — HW answers!

 We'll discuss Homework answers, if time
allows, to help review for the quiz
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p.16-17 Homework Ahswers

1) rotation 90" counterclockwise about the 2) translation: 4 units right and 1 unit down
origin
. Ly
o
L (Xy)=2>(x+4,y-1)
Lt [
Y] T

3
reflection across x =3




p. 16-17 Homework Anhswers

5)

rotation 180° about the origin
(X,y) 2 (=X, -y)

12) reflection across y=2
Ji1,3), L0, 5), R(1,5), A3, 2)

010, 1) R, —1), C13.2), 11, 1)

10 reflection across v= x
Ki—35.-2), Al—4, 1), ID, —1), JI—2, —4)

Ay

A
. J'P\\ I’ _
; I
K >
i A
K’ ¥

X, y) 2 (¥, X)

14) translation: 6 units right and 3 units down

S1—3, 3), Cl—1. 4), Wi—=2, —1]
53, 0), Ci5. 1), Wi4, —4)

(X1y)9(X+61y_3)



P.18-20 odds

The coordinates of a4ABC are The coordinates of A ABC are
1 A2, 1), B(, 5), C(0, 4). 3 A(-3, -2), B(-2, 3), C(1, 3).
" The coordinates of a4'B'C 'are " The coordinates of s4'B'C"' are
A'(2,-1), B'G3, -5), C'(0, 4). A'(-6, -4), B'(-4, 6), C'(2, 6).
Reflection Over X-axis I
Description: Description: Dilation By Scale Factor of 2
X —
Algebraic RU"’J(X’ y) - ( ’ y) Algebraic Rule: (X’ y) — (ZX’ 2y)
l
— / I/L
[ i }é
N
A /
;—# d




P.18-20 odds

The coordinates of AABC are
A(-1, 1), B(0, 3), C(-3, 1).

The coordinates of aA4'B'C" are
A'(1, 1), B'(3, 0), C'(1, 3).

Description: _ROtation 90 degrees Clockwise

Algebraic Rule: (X’ y) — (y’ _X)




The triangle with dotted lines is the preimage.

P.18-20 odds

Part 2: Describe the transformations on the graph verbally and by writing an algebraic rule. Hint:

B'
7 i A" N
. J ‘ '
u: Ab'.'.' ".
£ 3 PR

Description: @ iS. 3 ns\rﬁ'cmé

Hyp
Algebraic Rule: Mﬁf‘)
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A(33)
9 il B A (5 (o
s
»} [
1)
-rc' .
Description: yel\e ¢t avex Y= p

Algebraic Rule: [zﬁ) 2 ( Y )7‘)



P.18-20 odds

11) , B B’ 13) AABC s dilated by 2
Adie—7 )
L / A =
. AN i(‘*'q
] Y ) ®(¢,2)
A' 8.
1 C(2:%)
- \
\
Description: redletrovey Y=%
Aaen by 2L

Algebraic Rule: (X3}~ @‘hj"‘)

Algebraic Rule: J:X; \J\J" { 27‘,2\1\
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P.18-20 odds

15) AABCis rotated 180° then 17) AABCis reflected overy = -x and moved

Pilafed by a factor of two. LP 2
| X A‘ (‘L{ ) L{j
B 8 (°(°) '2) -
\ IS :

PHEHRE ¢ 6D )
Rasa) )
- |

|

}Algebraic Rule: (j ,.\,!)"’ ('2*)’2:{3 r‘Wk Rule: (‘ﬁ)\g o 4 (—\)‘ o TRy 2)
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Quick Question

If the problem does not specifically state the
direction of the rotation, which way is it
rotating????

COUNTER-CLOCKWISE!
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If you finish early begin on tonight’s
homework.

*Packet Pg. 21-22 evens and #3, 13
AND Packet Pg. 18-20 evens




